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1. Knowledge of Language and Syntax

Knowledge of language

What is language?

The Swiss linguist Ferdinand de Saussure (1857-1913) provided this answer: Language is a sign
system linking sound on the one hand and meaning on the other. This is the Saussurean conception
of language. But the answer provided by the theory of generative grammar is a lit different.
According to the theory of generative grammar, language is a set of sentences L = {S;, Sy, S3, ...},
whereby each element S; is finite in length, though the set L itself is infinite (i.e., contains an
infinite number of Ss).

We can regard L as the output state of a grammar G. G has the following properties:

(1) It 1s finite, and,
(11) it can generative an infinite number of linguistic expressions (namely, Ss).

G 1is finite because human brain is finite — a human brain weighs only a couple of kilograms.
This, of course, presumes that L is (in some important sense) a mental activity/state of human being.
G can generate an infinite number of linguistic expressions because human being can utter an
infinite number of sentences — known as the creativity of human language faculty.

How do we know that such a definition of language is the right one that we need for the pursuit

of scientific understanding of language?

Knowledge of language

Let’s assume that language is infinite, which is obviously true. Where lies the infinity of language?
Knowledge of language is composed of the following domains:

Phonetics: the sounds (and gestures) of human languages, and their properties.

Phonology: the system into which sounds are organized.

Morphology: meaningful elements and the ways they are put together to form words.

Syntax: The ways sentences are formed.

Semantics/pragmatics: the ways that sentences are understood and used.
The phonetics and phonology of a language is clearly finite. For one thing, the sound inventory

of a language is very limited—from twenty some to sixty some — for another, the phonological



patters (e.g. Syllable Structure Constraints, SSC) are highly restricted.

The morphology of a language is finite too. Firsts, the number of words in a language is finite;
second, the morphological alternation (inflection or derivation) of a language is restricted.

Syntax is infinite. Human beings can produce infinite sentences for use.

Semantics/pragmatics is infinite too, but human being expresses semantics of use language by
way of sentences.

The conclusion, therefore, is: Syntax is the source of infinity of human language.

Syntactic knowledge

What is syntax?

In the traditional studies of language, syntax was known as syntagmatics, the study of
arrangements of units in a linguistic expression (as opposed to prardigmatics, the study of possible
substitutions of specific units in a linguistic expression). The current scientific view on syntax is
that, syntax is a generative procedure (or generative function) in human mind that takes lexical
items as input and produces sentences as output. This generative procedure is also known as the

grammar G of a language L.

Knowledge of syntax

Usually, when we hear about the word “grammar,” we immediately think of things such as the
arrangement of words in a sentence (“syntagmatics”), or, in addition, things like subject-verb
agreement (e.g. John wants to go home). Indeed, these are part of the knowledge of syntax that we
have about a language. But there is much more to syntax.

What about the knowledge of the grammar of Chinese?

While we know that Chinese is a language with the basic word order Subject- Verb-Object,

R=M2 T —KREERE
MR- REEENRZT (*: ungrammatical or unacceptable)
c. *—IEEER=MZT
Iz 7 —RERER=
e. *—REEREIZTIR=

(1)

o ®

&

and that it lacks grammatical agreement of any sort, and that its nouns require classifier or different

sorts,



—& 8 —8

2)

a. =
b. —&7E *—1t
c. —IREF *—Rf
d. —mEfH *—1f

we also know much which we are not even conscious of. In what follows we provide tw examples.
The first example is the dou and ge quantification. The elements dou and ge look similar, but

closer examinations reveal that they have very different properties.

() a fMERET—IEEF
b. MHET—IEEF
c. ftffIERRT
d. *fIHKT
4 a MMHIET-IEEF (ftfPIERE T —I&IEF)
b. {FI=EE T E LR (fth{P3ERE v & k)
c. *MfISERIFTEESTE (P ERIBTEESE)
(5) o BIELEHFERIIZ—EHE (BXELHFEBREIZ—EHS)
b. *FBEX—RMBHFIz—EZHS (BE—RIEFHIZ—EHS)

c. BEXBEBHIE—ERER (EEXBEEHHE—ERER)
*EBIHEFE—EXER (EXEEHME—ELER)

&

The generalization for the grammatical rules of ge quantification appears to be: The predicate of a
ge-quantified sentence must contain an indefinite object. The subject, of which ge quantifies over,
must be existentially restrictive. Notice that we have not had conscious access to these rules (until
you are told now), but we use these rules proficiently and uniformly without any problem.

The second example is yigian modification. Yigian may freely modify a noun, but it appears
that the noun that yigian modifies must be presently existential in the world or the speaker,

otherwise the result is awkward.

6) a LIFigY
b. DIRifIEE
c. #LABURYRRE (#: semantically odd)
d. #LABIRYETR



These examples indicate that we have rich internal knowledge about the grammar of Chinese, even
though we don’t necessarily have consciousness about its existence.

But the term “grammar” doesn't just mean this. It has a strong universal flavor when we
compare the grammars of different languages. Again, we provide two examples to illustrate this
point.

The first example is the notion of syntactic islands. Look at the following English sentences.

(7) a. He is the man [who John said will buy the house].
b. *What is he the man [who John said will by _ ]?

The contrast in (7a-b) is an illustration of what we call the wh-island effect — a constituent headed
by a wh-phrase does not permit any extraction (that is, the wh-movement of what in (7b)). (By the
way, a (syntactic) island 1s a constituent from which nothing can move.) Now consider Chinese.

The following contrast shows that Chinese observes the wh-island effect too.

®) a fMZE [ EEHBEBRREF ] A
b. *BREF - Em=E [ BEHEE _ ] BIA?

Thus it appears the notion of syntactic islands is cross-linguistically existent, even though we, as
native speakers of Chinese, never heard about it, much less being taught about it.
The second example is the Binding Principle C effect. Consider the following English

sentences.

9 a. John; said he; would be able to come.
b. *He; said that John; would be able to come.

c. The fact that he; would be able to come made John; happy.

The grammatical and ungrammatical co-references in these sentences can be accounted for in terms
of what we call the Binding Principle C, which is defined by an abstract principle called
c-command. The definitions are given below. (There are also Binding Principle A and A, but they

do not concern us here.)

(10) C-command and Binding Principle C
C-command

a. c-commands f iff the first branching node that dominates o dominates f3.



Binding Principle C
A referential expression (that is, a proper name) must not be c-commanded by a co-indexing

NP (that is, an NP with the same reference) in the sentence.

Again, consider the case of Chinese. We see exactly the same pattern.

(1) o EE St BEs0%
b. *fth SHEE, BESHR
¢ ft BEMRAEBEET, REE

Thus the Binding Principle C and the relation of c-command are vitally effective in the grammar of
Chinese, even though we never heard about then—much less being taught about them.

In conclusion, the grammar of a language is a rich, complex system, whereby particular rules
specific to the language and universal principles that govern all human languages co-exist. We

inquire the issues of the grammar of Chinese in such light.

The architecture of grammar

We adopt the Saussurean conception of language and formalize it. According to this conception,
language is a mechanism that links sound (or other means of expression) on the one hand and
meaning on the other. But what precisely is this mechanism?

Let’s call this mechanism a grammar. The grammar has a few essential components none of
which is dispensable. First, the grammar need a lexicon, in which we find the morphemes and
words that gives the minimal units of meaning. This set of words and morphemes do not just go out
into the world as language. We need to put these units into different arrangements and associations
so as to carry different propositions. Once we reach these propositions, these propositions give us
sounds and meanings. Thus there must be a core component in the grammar which links the lexicon

with the sound and meaning components. That core component is syntax.



*  The architecture of grammar

Phonological processing Semantic interpretation (Logical Form)

Surface Structure

S Syntax
Transformation

Lexical items drawn and assembled:

Deep Structure

I

When we are constructing a sentence, first we choose some words and morphemes from the
lexicon, and then we put them into a structural form. This is the Deep Structure of this sentence. If
no other things happen, this Deep Structure goes on and split at a certain point, Surface Structure,
toward phonological processing and semantic interpretation. But sometimes we want to do a little
“manipulation” on the Deep Structure of the sentence, for example, to make a active sentence into

passive form or move a noun to the initial position of the sentence to form a topic construction.

(12) a. John bought that book = That book was bought by John



b. Iwillcall John = Call John, I will

In such cases we have transformation applies on the Deep Structure of a sentence, and make the
Surface Structure of the sentence different in form from its Deep Structure. Transformation is
therefore an important component in the grammar. In what follows we will examine each of these

components in the grammar.



2. Phrase Structure

Phrase structure in English

What is phrase structure? Simply put, phrase structure is the way a language looks. Some
languages have very “loose” phrase structure; others have very “compact” phrase structure. Some
languages have a lot of functional categories in their phrase structures, some others do not have
functional categories. Phrase structure encodes important information of a language, e.g. word
order, hierarchical structure, and so on. The phrase structure of English has been investigated
thoroughly. In what follows we will look at the English phrase structure first, and then go on to

look at the phrase structure of Mandarin Chinese.

Knowledge about the phrase structure

To start with, let’s ask ourselves this question: What do we know about sentences? We know

the word order.

(1) Chinese, English SVO
Japanese, Korean SOV
Irish, Chamorro VSO
Tsou, Atayal VOS

We know the grammaticality of sentences.

(2) a. Colorless green ideas sleep furiously. (Nonsense, but grammatical)

b. *Furiously sleep ideas greeen colorless. (Nonsense, and ungrammatical)
3) a. ?Which book did John wonder why Mary buy? (Mildly weird)

b. *Why did John wonder which book Mary buy? (Strongly ungrammatical)



We also know the structure and categories. What follows is the tree structure of the sentences

Colorless green ideas sleep furiously and The man who was mixing it fell into the cement he was

mixing.
4) s
/\ VP
A NP V/\Adv
/\
A N
Colorless green ideas sleep furiously
) S
/\ VP
NP S 7 e
Det N NP VP P NP
NP S
e
Det N
the man who  was mixing it fell into the cement he was mixing

We can also represent the tree structures in terms of labeled brackets.

(6) [s[np[acolorless] [np[a green] [nideas]]] [ve [v sleep] [aav furiously]]]
(7) [s[np [np [Det the] [Nman]] [s[npWho] [vpwas mixing it]]] [ve[v fell] [pp[pinto] [np[np[petthe]

[n cement]] [s he was mixing]]]]]

Why do we bother to draw these tree structures? We draw tree structures because they are part
of our knowledge of the syntax of English (and Chinese). In other words, sentences have structures;
they are not just linear arrangements of words and morphemes.

How do we know that sentences have structures? Because sentences may exhibit structural

ambiguity. The existence of structural ambiguity is a strong piece of evidence for the claim that



sentences are not just flat, linear-ordered words/morphemes, but have hierarchical structure.

(8) a. The boy saw the man with a telescope

b. The boy helped the old men and women

(8a’) S
NP VP
/\
Det N v NP PP
Det N P NP
the boy saw ‘ T
‘ ‘ Det N
the man with ‘ ‘
a telescope
(8b7) S
NP VP
/\ /\
D‘et "“ \|/ NP
/\
the boy saw /NP\ /PP\
Det N P NP
‘ Det N
the  man with ‘ ‘

a telescope

Categories, phrases, and constituent structure

To understand the phrase structure of a language, we need to first understand the building
blocks of the phrase structure—the categories and phrases.

Why do we classify words into different categories (parts of speech)? Linguistic evidence
indicates that such classification is necessary.

First, we have morphological evidence, such as:

10



— The plural morpheme —s attaches to nouns only
— Inflection applies to verbs only.

— Different derivational affixes attach to specific categories.

9 -able: V= A
-izez: NorA=V

-ness: A =N

We also have syntactic evidence, such as:

— Words of the same kind can substitute each other.

love
hit
(10)  John should not ! Mary.
tell
help
[vase
picture

(11) The {window ; broke with a big noise.

glass

bone

— Words of the same kind often exhibit complementary distribution.

the

(12) Tlike {° hat
John's

that

What are phrases? Phrases are enlarged categories. For example, we have adjectives, then we
have adjective phrases; we have verbs, and we have verb phrases. Technically speaking, phrases
are projections of categories—A projects an AP, V projects a VP, and so on.

How do we prove that phrasal categories (AP, VP, NP, etc.) are necessary? Again, we have
evidence.

— Morphological evidence: the possessive marker ‘s takes an NP rather than an N.

11



(13) a. [My father]’s friend has a coyote fro a pet.
b. [The king of England]’s head is bald.

— Distributional evidence: elements of the same phrasal category have the same distribution.

kiss Mary

tell Mary the truth

escape

sell the gold watch that his father left to him

(14)  John should not

Mary
The boy

The man who I met last year

(15)

arrived yesterday.

John, who lost all his money

A sentence is composed of different constituents. A constituent is a “chunk” in the phrase
structure. Simply put, a constituent is a projection of a category. There is evidence for constituent
structures.

— Only constituents can move, be coordinated, be pronominalized, and omitted.

(16) a. John gave Mary the book.
b. The book was given to Mary by John
c. The book, John gave to Mary.
d. *Mary the was given to book by John.

(17) a. *John saw the blue sky and the clean water.

o

*The police chased the dog and caught it.

c. *John rang up his mother and up his sister.

The book on the table is on sale. = It is on sale.

(18)

®

b. The army moved toward the hill. = The army moved there.

c. *John put a book on the table. = John put it.

(19) a. John went to New York, and Mary does _, too.

b. John can fix the car, and Mary can ___, too.

c. *John loves his mother, and Mary ___ sister.

12



Phrase structure rules

The study of phrase structure is the study of the ways that words are organized into phrases and
phrases into sentences. Different languages may have different ways to organize words into phrases

and phrases into sentences.

(20) a. John firmly believes that Mary came to the party last night.
b. John firmly believes that Mary last night came to the party.
b. Firmly believes John that Mary to the party last night came.
c. John firmly Mary last night the party to came that believes.
d. Believes firmly that last night to the party came Mary John.

A convenient way to characterize the phrase structures of a language — a way that was popular in
the 1960°s and the 1970’s — is to employ the phrase structure rules (PSRs). A phrase structure rule
has the following format, X — Y Z, understood as “X is re-written as Y followed by Z” or “X is

expanded into the sequence of Y followed by Z.”

(21) A phrase structure grammar

1. X—=7ZY

11. Z—AB

1il. Y—=PQ

1v. A—-UVK

V. Q—EF

Vi. F—=JAR

vih. P—=XB

You may think about the following questions: What phrase structures can be generated by the PSRs
in (21)? What phrase structures cannot be generated by the PSRs in (21)? These are the sentences
(in the formal sense) that can be and cannot be generated by this tiny “grammar” composed of
PSRs.

The PSRs have three remarkable properties—also the three fundamental properties of the
phrase structure of natural language.

1. Linear order (precedence)

For X =Y Z, Y precedes Z (and all other elements that succeed Z)

13



2. Hierarchical structure (domination)
For X =Y Z, X dominates Y and Z (and all other elements that Y and Z dominate)

3. Recursion
If a symbol X occurs to the left and to the right of the arrow (not necessarily in one and the
same PSR), then the phrase structure grammar is said to be recursive, as it can generate an

infinite number of sentences.

English phrase structures and PSRs

The PSRs can be used to characterize the phrase structures of natural languages. To characterize the

phrase structures of English, we need to observe the sentence structures of English more closely.

(22) John runs.

ISE

John loves Mary.
John gives Mary a book.

SUS

John runs to the school.

John buys a book in the store.

John gives Mary a book in the school.
John thinks Mary runs.

= @ oo

John thinks Mary says Bill gave Jane a book.

—

John tells Mary Jane gives a book to Bill.
S — NP VP

b. VP — V (NP) (NP) (PP)

c. VP—=V(NP)S

®

(23)

The following table summarizes the elementary phrase structure rules in English (C.-T. James

Huang, http://www.people.fas.harvard.edu/%7Ectjhuang/lecture notes/lectpg.html, Introductory

Syntax).

14



psp1 | The Sentence Rule SJ— = {5} (e VP

P3R2 The NPRule | WP ——e- a. Pronoun
b. (Det) (&P) N (PP) (8"

&F)

PSR3 | The VP Ruk VP weeees (AAVE) Y { }cxp*:-
(NP) ( { PP )
PSR4 The &P Rule PP mes==d > (deg) & ( { § 20 Y
PRRS The PP Rule PP ----mm- = P (NP}
. Art
PSR6 The Determiner Det ------ =1 Dem
Rule NP
Poss
PSR7 The Coordinate K-> ¥ {Conj) ¥....) Conj X
Stucture Rule

where X is a lexdeal [word-level) or phrasal category.

The Dependent \
PSRE | ~ivise Rule 8 —>(Comp) @

PSRO | ThedwlsryRule | Awc-—> (| pogeg) ) (Perf) (Prog.)

The PSRs can be regarded as instructions for building the hierarchical structures of sentences.
That is, when we build a tree structure for a sentence, we use these PSRs, step by step, in a

top-down fashion.

(24) John told the little boy he won the prize.
3
W v
I
N v NP /S\
D|et AP N NP /Vp\
Art A ‘|f’ NiP

John told thelittle boy he won  the prize.

15



Now we must add one more rule to the list to complete the Phrase Structure Grammar of
English, that is, the Lexical Insertion Rule. Let’s assume that these PSRs apply blindly and generate

phrase structures. Suppose we apply some of the PSRs and gets the following tree structure.

(25) S
NP Aux VP
|
/\ Tense
S
Det N \" /N
NP Aux VP
| | /\
Pronoun Tense
\Y NP
Det AP N

|
Adj

Up to this point we have built a nice-looking tree structure. But the task is not finished yet, since
one crucial thing is missing here — the lexical items. (25) is just an empty shell, and we have to
insert lexical items into it. This process is called Lexical Insertion. Now we choose lexical items

and insert them into the zerminal nodes of the tree structure (25). We get:

(26) S

NP Aux
|
/\ s

A S
Det N ‘
ed NP AuXx VP
say | | /\
That boy Pronoun Tense
‘ ‘ \Y; NP
he -S ‘ /M
like
Dlet A|P N
this Aldj

lovely  girl

16



27) That boy said he likes the lovely girl.

Notice that these PSRs only generate the basic sentences of English. In other words, if we regard
the language L as a set of legitimate sentences and the grammar G of L as a device that generates
all those legitimate sentences and only those sentences, it is clear that the phrase structure grammar
outline above for English is not sufficient. This point is important for the following reasons.

First, the PSRs only gives us a bunch of empty phrase structure shells; they don’t have a control
over the process of lexical insertion. That is, For example, if all that we have is just the set of PSRs

given above, how can we exclude the following two illegitimate sentences?

(28) *That boy said he arrives this lovely girl.
(29) *That boy said he likes those lovely girl.

Second, the sentences of a language can be divided into two groups: the basic sentences, and
the derived sentences. The basic sentences are those that can be generated by the PSRs, and the

derived sentences are those that undergo transformations. Consider the following contrast:

(30) John hit Bill.
(31) Bill was hit (by John).

The sentence (6) can be readily generated by the PSRs given above, but the sentence in (7) cannot.

We will come back to the reason later.

Subcategorization

Consider the following examples.

(32) a. The boy saw Bill.
b. *The boy died Bill
c. The driver died

d. *The driver saw

17



Notice that, according to the PSR3 (The VP Rule), the object position is optional for a verb. In
other words, VP — V' (NP)... and so on. But this causes problems in examples like (32b) and (32d),
where an intransitive verb illegitimately takes an object, and a transitive verb is illegitimately short
of an object. This well illustrates the problem that we pointed out above; that is, PSRs has no contro
over lexical insertion. If there is no restriction other than the PSRs, (32b) and (32d) may very well
be generated in English, a wrong result.

This kind of phenomenon is called subcategorization. Crucially, a verb has intrinsic properties
as to whether it takes an object, and so on. This kind of information must be listed in the lexicon

with individual lexical items

(33) a. die:  Semantics: “to become not alive”
Category: V
PAS: {1} (PAS = Predicate-Argument Structure)
b. see:  Semantics: “to perceived with eyes”
Category: V
PAS: {1, 2}
c. give: Semantics: “to transmit by hand”
Category: V
PAS: {1, 2, 3}

With information like (33a-c), we will not make mistakes such as those in (32b) and (32d). When
lexical insertion takes place, it checks the environment in which a lexical item (e.g. a verb) is going
to be inserted. If the inserted position has a NP following it, then the position is suitable for (33b)
kind of verbs but not (33a) and (33c¢) kinds. On the other hand, if the inserted position has no NP
following it, then the position is suitable for (9a) kind of verbs but not others. Mismatch causes

ungrammaticality, as the case of (8b) and (8d).

Selectional restriction

A further phenomenon of a similar nature as subcategorization is the following:

(34) a. The baby cried
b. *The table cried
c. The baby arrived

18



&

The table arrived

His proposal surprised me
They bought an orange
*They surprised the orange

=

*His proposal bought me

—

*John gave a toy to the baby
John gave a toy on the baby

—

k. John put a toy on the table
1. *John put a toy to the table

Compare cry and arrive. These two verbs are both intransitive; then, by definition, both verbs must
have a subject but not an object. According to this regulation, (34a-d) should be all okay, but
unfortunately they are not — (34b) is ungrammatical, even though it has a subject but not an object.
What is happening here?

This kind of phenomenon is called selectional restriction. It is not enough to simply say that a
verb can have one, two, or no argument; the semantic content of the argument matters too. What we
can do is add the relevant information, in particular the thematic information, to the lexical entry as

intrinsic properties of the lexical item.

(35)

®

surprise  Category: V
PAS: {1, 2}
S-selection: {Theme, Experiencer} (S = semantic)
b. put Category: V
PAS: {1, 2, 3}
S-selection: {Agent, Theme, Location}
a. die Category: V
PAS: {1}
S-selection: {Experiencer}
b. see Category: V
PAS: {1, 2}
S-selection: {Agent, Theme}
c. give Category: V
PAS: {1, 2, 3}
S-selection: {Agent, Theme, Goal}

19



Arguments and adjuncts

The listing that we see in (35) is usually called the argument structure of the verb. This term
comes from the term argument. An argument is a mandatory element for a head. (The term head
usually means verb, though it has a more general meaning.) An intransitive verb has only one
argument, that is, the subject; a transitive verb has two arguments, the subject and the object. A
ditransitive verb has three argument. Each argument of a verb has a specific thematic role; for
example, the two arguments of the verb surprise are Theme (subject) and Experiencer (object), the
verb walk has only one argument, and its thematic role is Agent, and so on and so forth.

Adjuncts are non-mandatory elements (usually modifiers) in a sentence.

(36) a. John walks.

b. John walks quickly.

c. John walks to the office.

d. John walks quickly to the office.
(37) a. John gave Mary a book.

b. John sincerely gave Mary a book.

c. John gave Mary a book to please her.

&

John sincerely gave Mary a book to please her.

In (36) and (37), walk and give are the main verbs of the sentences, with John (for (36)) and John,
Mary, and a book (for (37)) as arguments. But what about those extra expressions, quickly and fo
the office (for (36)) and sincerely and fto please her (for (37))? These extra expressions are not
mandatory for the completeness of the sentences, because (36a) and (37a) are all perfectly okay.
These extra expressions are called adjuncts — they just provide extra modification to the sentences;
they are not part of the argument structures of the verbs walk and give. The argument structure of a
verb only contains the arguments and information relevant for the arguments. Adjuncts are not

included.

Phrase structures of Chinese sentences

To start with, let’s look at the word order properties of Chinese sentences. Chinese sentences

have the basic word order SVO, though in some derived cases we have SOV as well.

20



(38) IR=MZT—KHEEE
R=—RMERENZ T
F—RERER=NZT
*—RERENZTR=
Mz 7 —RERER=
MZ T R=—REZEE

(39)  Object Shift Construction in Chinese
SR=IZT7IREZ:
SR=AERHNZT
SR=MZALERE - NZ1FRFEAID
SR=EHNZFRRAID

(40)  The ba and bei constructions
SR=ICHERNZ T
MEHWR=NZT

Notice that the major syntactic categories in Chinese exhibit different headedness.

(41) VP: V-NP
ZEE » BEK » EEHR
PP: P-NP
EXRE > MEE (85)
AP: AdvP-A
RE= IFEE
NP: XP-N

RERAKAR @+ HIERBREIRIA

N

- Head-initial

s Head-final

Compare with the basic word order and the headedness of major categories in English:

(42)  John ate that burger
John that burger ate
(43) VP V-NP
eat a burger, kick a ball

(SVO)
(No object shift in English!)

21



PP: P-NP

in the room, to Taipei
AP: AdvP-A

very beautiful, extremely high
NP: XP-N & N-XP

beautiful girl, the man who I saw

Adverbial modification: In Chinese, they always precede the main verb; in English, they may
precede or follow the main verb (but do not intervene between V-Obj). (But PP adverbials in

English typically occur post-verbally.)

(44) a R=IRBILMIZTYEE
b. *R=MZ7EERRILM
c. R=TEEXRAFEEL - B2 7TFN
d. *R=EEITHFN » EEIRNFEL
e. John happily ate the burger.
f. John ate the burger happily.
g. John, on the way back home, met Bill.
h. John met Bill on the way back home.
(45) R=1RAMLIFEAELR

ISE

*R=1IFREEMRA M
R=A—E7tREELR
“R=UIRBANA—ET]

John opened the watermelon forcefully.

SES

John forcefully opened the watermelon.

John opened the watermelon with a knife.

P e ™m0

*John with a knife opened the watermelon.

Contrasting Chinese with English:

(46) a. John studied English very hard in the library yesterday.
b. R=FFRTEEEERAINERX
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Typological properties of Chinese sentences

Chinese is an “isolating” (a.k.a. “analytic”) language. An isolating language is a language in
which a morpheme is a word (or almost the case). Contrasting with the isolating languages are
“agglutinating” (a.k.a. “synthetic”’) languages. In an agglutinating language, several morphemes

constitute a word. These two types of languages differ in extent, not in absolute terms.

(47)  Vietnamese (analytic): 12 morphemes, 12 words
Khi  toi den nha ban  toi, chung toi bat dau lam  bai.
when I come house friend I Plural I seize head do lesson
'When I came to my friend's house, we began to do lessons.'
(48) Japanese ((verbal) synthetic): 10 morphemes, 4 words
John-wa  sensei-ni gakkoo-e ik-ase-rare-ta.
John-Top teacher-Dat  school-to go-Cause-Passive-Past
'John was forced to go to the school by the teacher.'
(49)  Eskimo (synthetic): 23 morphemes, 5 words
Tavva-guuq  ikpiarju(q)-ku(t)-Luni-tigualaka-mi-uk
Then-they-say work-bag-by-while-she-swept-up-Loc-Poss
takanu-nga ikijag-tug-Luni qaja(q)r-mun.
that-one-there-below-her way-out-she-while  kayak-towards
'"Then suddenly, she swept up her work-bag from its place below her as she went out

towards the kayak.'

Chinese is a topic-prominent language. Chinese permits sentences where the topic phrase does not

correspond to any gap inside the sentence.

(50) a. BEARE S R=REZH__

b. 8 RERNZHER

c. R&F'EBFRER

d. EEER ' BXEETHRMEARNIT
(51) a. This book, John likes .

b. *Fish, I like tuna.

c. *Elephants, trunks are long.

d. *This problem, John helps us a lot.
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Phrase structure rules in Chinese

PSRs in Chinese: We may follow the examples of English and try to construct phrase structure
rules for Chinese sentences. The following is a tentative formulation of the PSRs in Chinese. They
are not meant to be exhaustive, though. They are presented for illustration purposes only. With this

in mind, let get started. First we look at the sentence rule:

(52) S— {I;P} (AdvP) (Aux*) (AdvP) (Aux) VP (SFP*)

(53) EREH IR=DJREEEARRK
IR=2FIRZEATHER IR=EAETREEBARRK
R=8X R=RT
IR=OJREER R=RTIE?
IR=BARTIREE R R=ETHETIRE?

IR=DJREBAR B3R

The NP rules look like the following:

Pronoun
4 — (X*
(54) NP —(X*) {N }

[Det - (Num) - Cl
Num - Cl
(55) X — {AP s
PP
E
(56) EBARE BIEREMZ
SLE B=ARENTESR LNHEIERENE
E=AE BRERENB=FTER LHWRENE
=FE RERLEE / fth
RENE BRERBINRAOMNEE /
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"EERLNE BEREREZIVRRONZE / f

The VP rule is:

AdvP VP/PP
(57) VP— {VP (AdvP) V(-Asp) (NP) 1S

PP QP

(58) IR=ERIRIMIT r FOMEE R=IAENZER

IR=ERFMNBARAER R=ETHIL=R
sR=MZF AR athE 7 55 R=IZHHHZER T
IR=ERIHER IR=TESRT Lk
R=ERNZ R=HERFL

The following are the AP and PP rules:

(59) AP — (AdjP) A (60) E=
JEEHES
(61) PP—PNP (62) HEEEE (FE)

fieadk (%K)

And lastly the coordination rule:

(63) X — X (Conj) X (64) R=FN  EARTER
1RE » BWAE

As can be easily seen, Chinese phrase structures are very different from the English phrase

structure rules. The phrase structures of Chinese sentences are interesting in at least the following

aspects.

* NP in Chinese doesn’t have the “close off” properties as the English NP — the function of the
determiners.

*  The NP-internal elements don’t seem to have a fixed order except the head N.

* Sentence final particles (SFPs) are very important in Chinese sentences. There can be more

than one SFP in a Chinese sentence.
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Are there S and COMP in Chinese?
Aux in Chinese is more similar to the regular verb than auxiliaries of English type — there can
be more than one Aux in a Chinese sentence, just like VP, which can have multiple

occurrences in a sentence.
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3. Words in Mandarin Chinese

Words

What is a word? A word is the minimal independent form in a linguistic expression (sentence).
A different definition is that a word is a free morpheme or a combination of free and bound
morphemes.

The morpheme is the minimal unit in a language that carries a meaning (= has a denotation) or
exhibits a grammatical function (= participates in the determination of the well-formedness of a

linguistic expression).

(1)  foolishness = fool + ish + ness
disarmament = dis + arm + a + ment
Tk =T + % + 1t
By =%+7F
BR =% + R

A free morpheme is a morpheme that can occur alone in a sentence as a word.

(2)  fool, arm, table, sky, sincere, kick, with, bright, hate, at ...
{’ %" 9%’ E%’ *D’ %’ JE’ E e

(R, *22, 4G

A bound morphemes is a morpheme that cannot occur alone in a sentence as a word and hence

must be affixed to another morpheme.

3) -ish, -ness, -ment, dis-, il-, un-, -ed, -s, -self ...

T, %, H, 8, 8w, K, JE &, B

Words, therefore, are free morphemes + morphemes that result from affixations of (free or bound)

morphemes.
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4) Free morphemes as words:
fool, arm, table, sky, sincere, kick, with, bright, hate, at ...
%, F, K, 8, M, 5, 8 £ ..
Affixations of (free or bound) morphemes as words:

foolish, disarm, sincerity, kicking, without, brighten, hatred ...
HEX, Hia, £, £, PR, Bl UK, HK, JREE, 2R R, RE ..

Content words in Mandarin Chinese

Chinese is said to be a monosyllabic language. This statement must be understood in the
following way: each syllable in Chinese stands for a morpheme (bound or free). This statement
cannot be understood as each syllable in Chinese stands for a word (but perhaps a character).

Words can be classified as content words and function words. Content words are words that
have concrete meanings. They form an open class; that is, they are in principle unlimited in

number.

&) table, chair, kick, read, yellow, bright...

Function words, on the other hand, are words that don’t have concrete meanings but only carry

grammatical functions. They form a closed class, and are limited in number.
(6) with, in, at, about...
Content words in Chinese include:
7N NFHAEUE
A noun in English has to have a determiner, or it has to be plural. A noun in Chinese can be bare. In

other words, Chinese nouns don’t have count vs. mass distinction, whereas English nouns do. This

is probably the reason that Chinese has a special category called classifiers.

(8) a. The dog bites John.
b. *Dog bites John.
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c. Dogs bite John.
9 a ARTEE
b. MBMIRER
c. B TH
d. EXE8N

Content words in Chinese also include:

(100 VAT B G EES

There don’t seem to be clear distinctions between verbs and adjectives in Chinese. For one thing,
adjectives in English and other western languages typically denote static situations; but adjectives
in Chinese, in addition to denoting static situations, can also denote change-of-state situations. This

latter property is usually seen in verbs, but not in adjectives.

(1) a IR=1RS
b. R=ESTFEMNALRS
c. BHRTERAL
d. ST

Content words in Chinese also include:

(12) P: [@ & iR A & H

Prepositions in Chinese generally have resulted from grammaticalization of verbs, and they still
retain verbal characters. For example, most prepositions in Chinese can take aspectual markers,
which is a privilege of verbs or adjectives. Besides, most of the prepositions in Chinese can

function as the main predicate of the sentence.

R=EEARE (K0)
INRIRTIR= (K5RE)

c. RERAT=EZF (FB)
R=REEE (F8)

c. EHERMBEM (HEER) IE

(13)

o ®

&
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Function words in Mandarin Chinese

Mandarin Chinese also has function words. Many of them are affixes. They include prefixes:

(14)  Prefix: /v 58 ¥) O] 47/
(15) TBERK B= F= F— ¥7 oIZ Ok ¥z F=E #HZ #=

And also infixes:

(16) Infix: /A
(17) H5HE AR 1285 12145

And also suffixes:

(18) Suffix: 52 1 8 X bt ¥ B&
(19 ER B it 2EM BER BiMiR IR B thF 1EF 1858 /NE

The adverbial marker 8 is a function word as well.

(20) ESH RRM RANDM T —AGth EBELUh FEREEEE
(Note: *fas5ith *fEEith *NZAR3M)

These function words (in fact, bound morphemes, not really words) are elements that help to build
words.

Syntactic function words in Mandarin Chinese

On the other hand, there is a special group of function words which are more syntactic in nature.

They include the resultative & descriptive marker 15:

21) MZSRIR SRR
ZPRRA  WERRA
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And duration & frequency marker f:

(22) FHERT=XR HadETHE

FREER T =it

EZaETHR

And the aspectual markers:

(23) Perfective T (T1) ET 0127 %7 7Y

Durative 2

2& & &&F F=&

Experiential 38 =B 2B B8 &8
Progressive Tz =% TF& =%
Delimitative — iz—lz B—8 &8 &—&

And also the sentence-final particles

24 T (7

e

ne

M

fpal/ eF

%5/ fe

Also the classifiers:

Currently relevant state (new situation); perfect aspect
SR=IZTERY 1fedlT=KR7T FMEEA/ILT
Response to expectation; progressive aspect
EXH=RFR DMFEIZESRIE SHETMEZEN
Solicit agreement

EME ZEE IZ7IE ZHIE

Friendly warning

NLE  ETHERIE

Reduce forcefulness

P 2 MZERI  Fi=ICEA

Question

EEXETHENR?

EXEAFESLL ?

EHESMEAS ?

(25) a. Measure words: words that represent measure units.

—EA
=#K

ARRf — BN Fab/NAN: Ok
== =HRE9K =FENE
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—iTHE —ELRN —FTIME —EMI5R

b. Classifiers: the “true” classifiers, which don’t have denotations but only classify things.

=X%E —=EIE g—t-3: 0 *—ENEIE
Falizil PR{EIMF * AEAYE *PfERIRF
MFmE EEER *MiFrvmE  *MERTELR

These function words are said to be syntactic because they may head their own projections in
the phrase structure. For example, the classifier may be the head of the projection Classifier Phrase
(in NP/DP), and de may be a complementizer introducing a complement clause. Thus they are very

different from the former group of function words, which merely contribute to word formation.

Compounds
Mandarin Chinese has productive compound words. A compound word is a word composed of

two or more words. A compound can be formed by reduplication or by compounding of other

independent owrds.

(26)  Reduplication

V: AR TEEBE MRAR ZRZERE
Adj: ALATRY  PEBERY  SFETARARAY S8z 3RV

Measure:  {RIRABERES RARKKER EEGKRE
Kindship: BE W 48 N
Misc.: EFEW HE BE SIEEN

(27)  N-N compounds
RE EE W@E BIEHE MAkis WK TH
=8 X BE XERAHMR R AiiiA (=N
B|lE RE A KiE RERER HEE FRERAEA

The problem of de: de is usually considered a “modification marker,” which introduces a

modifier to modify an NP.

(28) a. AdjP-de-NP
[agip 2L ] BOTE  [acp RS 1 B9 [aop BEE ] WA
b. NP-de-NP
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e BE 1HE LWIER]BPBRE [he/DF ] WEE [ S2F | BB
c. S-de-NP

[s HAEREE | WBE [s TEIRIRITIRE | ER [ BXRIA | HIKE

When de introduces an NP-modification (e.g. (28b)), the relationship between the NP-modifier and
the head NP can be quite liberal. This is in sharp contrast with the genitive case (‘s) of English.

(29) a. Time and location
FEERMNRE ZENEE SNRE BIEALGE
b. Possessor
EXINE NMFENE BNEE
c. Thematic argument
EENNE BEEMNTRE Z2INEE /DFE
d. Others
BRMWEBE AONEE KRYRDF

(30) yesterday’s whether

®

last year’s economy
Taipei’s traffic
*front’s traffic light

b. John’s car
Mary’s money
my bookcase

c. Rome’s attack
Hiroshima’s destruction
John’s attitude
Bill’s death

d. *the school’s student
*the population’s density

*water’s trace

Also, de can introduce clause-modifiers that are not permitted in English.

(31) a. the student that I met yesterday
the boy who John failed
b. the news that Citibank is going to be bankrupt
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the rumor that John will fail all the students
c. *the smell that John fried the fish
*the sound that Mary plays piano

Some N-N compounds can have de inserted between the two Ns, but some others can’t.

(32) *FREVER *ENE *FRRYE BFIRUIARE  EBReYA (F) R
TR *ENE *ZKHIAD IR RIEARYMR  *ERAVER
PR 9E HFHIR *EBHYIE SERYAR S 0)z] *BRAVHE
REWRER “LENE  RENREA

P

The major difference between N-N compounds and N-de-N constructions is that the former have a

sense of specificity in meaning, whereas the latter don’t

(33) BEMLIH agth
BEMA BEA
DI RE 3 2 IEEZ
EEMR ZEX

SO R RORRER B SR BRI

Verbal compounds

Chinese has productive nominal compounds. English also has nominal compounds (girlfriend,
blackboard, Watergate, etc.), though not as productive as in Chinese. On the other hand, Chinese
has productive verbal compounds. English doesn’t have verbal compounds. This is a sharp contrast
between the two languages.

Chinese has several types of verbal compounds.

(34) Resultative verbal compounds (RVC) (455R{E S Eza)
V-V, where V| is an action and V; the result caused by the action of V.

(35)  Parallel verbal compounds (coordinated verbal compounds) (M5! #8 & Ehza)
Vi-V,, where V; and V; are identical or similar in meaning.

(36) Modifier-Modified verbal compounds ({R1E#8 & Ehza)
X-V, where V is the head of the compound and X provides a modification to V.
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(37)  SP (subject-predicate) compounds

N-V, where N functions as if it is the subject of the predicate P.
(38) VO compounds

V-N, where N is the object of V.

There still some other minor types.

The Resultative Verbal Compounds (RVC) can be further distinguished into 4 subtypes.

(39) Cause HICRMITIR T
ftHEPIRIBE 7
(40)  Achievement HiCIEF=ER
SR 7 AR At
(41)  Direction fhptiEET
PR T
(42)  Phrase ftrvEE AR 7
tHENTEY

Characteristics of RVCs:

(43)  The potential form; -{§- and -F~-.
FIHR FISH AR
hifd hifsk  HAE
BERE FEE B

But:
HWE (RESHRETHE) HEHNE HBRAE
mE (R=R=2]T7) *RISE RIS

(44)  No reduplication; HEENEE), but *RiFARIEA.

(45) No insertion of aspectual markers into RVCs, except for directionals.

a. ¥IEK Iy (EF) HITH (EF)
fif T (F9) TR (F9)
Fi5e AT (&) *RAT5E (8)

b. HBE HBET BT BEE
izl S HHRT BT AR

The Parallel Verbal Compounds have two types:
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(47) 'V, and V; are synonymous
BE Bz BB
R BE JFER

(48) V;and V; are similar in meaning
e IERE *EE
RE BE Fa

Modifier-Modified verbal compounds

(49) X-V, where X can be V, N, or Ad;.
A MR BA EAR A BR B BRI
alE B/IE B T BEil £ k1T SE E
SP Compound:

(50) [EfE HR4L BBl
F2E DR B

VO compounds

51 BB =FX R/
me Sl EIT

Some VO compounds can be nouns or adverbs:

(52) N EBF EF Wk MIE
Adv: BiF EE BE& ER

Other minor types:

(53) Antonymous Adj = N
R ORE RE ER

(54) A-N
-7 AN = S
(55) Adv compounds
RIE [@ER RZA
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(56) N-Measure
B EFX W&
(57) N-V
(Most instances (if not all) of this type belong to the Modifier-Modified compounds)
| O H17
(58) Adv-V
BE B#& BiA
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4. Transformation

Why transformation?

Why do we need transformation? The answer is simple: the PSRs are not sufficient to
characterize the grammar of a language. A language typically has transformational phenomena,
which the PSRs cannot capture.

Consider the following examples:

(1) a. John likes Mary.
b. Who does John likes  ?
c. Who does Bill says that John likes  ?
d. Who does Jane thinks that Bill says that John likes  ?

(la) is a sentence with a transitive verb like, which takes an object Mary. Suppose we form a
question sentence out of this sentence by converting the object Mary into a wh-word who. We know
that, in English, the wh-word has to appear in the sentence-initial position, and this gives us
sentences like (1b, c, d).

The question with the PSRs is that, can we generate sentences like (1b, ¢, d)? Answer: No.

(1a) can be generated with the following PSRs:

(2) a. S— NP (Aux) VP
b. VP—= VNP

And since the verb like is a transitive verb, the appearance of the object Mary in (1a) perfectly fits
the environment provided by the PSRs. So far so good.

But problems arise if we check (1b, ¢, d). In these sentences, the object NP of the verb like is
gone (marked by underlines). Where does it go? Intuitively, it goes to the initial position of the
sentence, that is, who. But the verb /ike remains transitive, and it requires an object according to the
PSRs and its argument structure. If this is all we have, how can we distinguish grammatical

sentences like (1b, ¢, d) from those ungrammatical sentences like the following?
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3) a. *John likes.
b. *Bill says John likes.
c. *Jane thinks that Bill says John likes.

Conclusion: An independent kind of rules, called transformational rules, must be used to deal with
movement phenomena like (1b, ¢, d). That is, we assume that the PSRs generate basic sentences
like (1a). The these basic sentences are input to transformational rules such as Move Wh-Phrase,

which moves a wh-word to the initial position of the sentence.

4)

Surface Structure

T

. 4 _____________________ Movements and other transformational
Transformational rules  ~ 777
rules apply
Deep Structure 4::::::::::::::::::::: PRSs appll@d to generalephrase

structures, plus lexical insertion

A

Lexicon

Another example of transformation is the placement of tense in English. In English, tense is

realized in the first member of the sequence of Aux verbs plus the main verb.

)

John sang.

ISE

John was singing.

c. John had been singing.

&

John would have been singing.

@

*John will had been singing.

This pattern of distribution cannot be accounted for using PSRs, because, suppose that we have the
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rule in (6) (every auxiliary and verb can potentially have tense realization), how can we exclude the

case in which all auxiliaries and verbs are realized with tense, as in (7)?

(6) Aux —  (Modal) (Perf) (Prog)
((+Tns])  ([+Tns]) ([+Tns])

(7) *John would had was sang.

Thus we need a transformational rule: Affix Hopping.

(8) a. Aux — Tns (Modal) (Perf) (Prog)

b Tns — Present
Past

c. Present — {-es}

Past — {-ed}
©® a S
/N
NP Aux VP
| /N
Tns \ AdvP NP
|
Past
he -ed  arrive  suddenly yesterday
b. S
NP/MVP
/N
Tns Modal Prog ‘
| Y
Past ‘
John -ed will be singing

The application of Affix Hopping is as (10)
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(10) X@VY—=X[V-¢]Y

The perfective and progressive can be treated in the same way:

(11) a. Perf— have -en

b. Prog — be —ing

(12) s
NP/AUX_VP
M
Tns  Modal Perf Prog ‘
| \Y
Past

John  -ed  will have -en be -ing sing

(13)  Affix Hopping

SD: Aff X (SD: structural description)
1 2
SC: 0 2+1 (SC: structural change)

Condition: 2 =[+V]

One more example of transformation: Auxiliary Inversion. Exactly like the placement of Tense,
Aux inversion in English affects the first member of the sequence of Aux verbs + the main verb.
(exception: do-support).

(14) Will John have been singing?

ISE

Has John been singing?

c. Is John singing?

&

Does John sing?

e. *Have John will been singing?

Again, the PSRs cannot appropriately account for these facts.

(15) X S — (Aux) NP (Aux) V.....
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What is transformation?

Literally, transformation means ‘“change the form.” Given a basic form, we change its
appearance — that is transformation. For example, suppose we have a string aabbbaaabbbb. We can

perform innumerably many transformations to this string, including:

(16) bbaaabbbaaaa

®

(replace all b’s by a, all a’s by b)
b. ccdddcccdddd
(replace all a’s by c, all b’s by d)
bbbbaaabbbaa

1

(rearrange the order to its mirror image)
d. bbbbaabbbaaa
(move the final substring bbbb to the initial position)
e. bbbaaabbbbaa
(move the initial substring aa to the final position)
d. aa
(delete everything but the initial substring aa)
e. U

(delete everything)

Of course, transformations are not limited to strings only. Structures can be transformed.

(17) X X X
PN
Y Z :> z/\v Y/\Z
PN N | |
U w U w U W

Though there can be imaginably innumerable transformations for a given object, it is obviously not
true that natural language permits arbitrary transformations. Transformations are restricted in

natural language. This is an important subject matter that we will return to.
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Transformations in English: Movement

Passivization
Two problems posed by the passive sentences in English:

First, Subcategorization and selectional restriction are violated (in fact, must be violated).

(18) John cheated Mary.
*John cheated.
John was cheated (by Mary).

*John was cheated Mary.

Second, complementary distribution between the “missing object” and passive subject:

(19)  John hit Mary = John did hitting, Mary suffered hitting.
Mary was hit = Someone did hitting, Mary suffered hitting.
John scared Mary
Mary was scared
*John scared the table

*The table was scared
Descriptively, the passivization transformation can be as follows:

(20)  Passive Rule:

SD: NP Aux \" NP (SD: structural description)
1 2 3 4
SC: 4 2been 3 by 1 (SC: structural change)

The current view on the passive transformation is that the object argument undergoes movement to

the subject position, as follows.
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1) S

/[\
[ 1 Aux VP
Pass \Y NP
o |
be -en
scare Mary

Raising
Also called Subject-to-subject raising. In fact, all cases of raising targets the subject position.

Passivization can be regarded as object-to-subject raising.

(22) It seems that John is happy.
John seems to be happy.
It 1s likely that John wins.
John is likely to wins.
It appears that John has lost the game.

John appears to have lost he game.

Characteristics of raising:

(a) Alternation between the normal NP subject and the expletive subject iz.

(b) The raising verb (a.k.a. raising predicate) doesn’t assign a specific meaning to the normal NP
subject; it 1s modal-like. To put the matter in a different term: the raising predicate has a sentential
scope.)

(c) The embedded clause alternates between finite and non-finite tense.

(23) S
/[\
[ T Aux VP
-Past \Y S
|
-S NP  Aux VP
seem
| |
John  to V/\Ap
- |
be Al
|
happy



Control
There are sentences that look like cases of raising (in that they also involve infinitival clauses) but

in fact are not cases of raising.

(24) John wants to win the game.
John promises (Mary) to win the game.

John persuades Mary to win the game.

(25) John wants [ to win the game]

A |
9

(26)  John persuades Mary [ to win the game]
A |
9

We have evidence indicating that these examples are of a different type, called control structure. In
a control structure, the embedded infinitival clause has an empty pronominal, PRO, as the subject

controlled by the matrix subject.

27) John wants [PRO to win] (= John wants himself to win)
John persuades Mary [PRO to win] (= John persuades Mary that she is to win)

Characteristics of control sentences:

(a) No alternation between the normal subject NP and the expletive subject it.

(28)  *It wants that John wins the game.

*It promises that John will win the game.
(b) The infinitival clause in the control structure can be altered into a finite clause.

(29)  John wants to win.
John wants that he win.
John promises Mary to win.

John promises Mary that he will win.
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(c) Control verbs (a.k.a. control predicates) usually refer to the volition or intention of the subject
NP; that 1s, they assign concrete meanings to the subject NP.

There are several types of control of PRO:

(30) [s John; wants [s PRO; to win the game ]| (Subject control)
[s John; promises (Mary) [s PRO; to win the game ||  (Subject control)
[s John persuades Mary; [s PRO; to win the game ]| (Object control)

A special type of control: Arbitrary PRO:

(31)  To smoke 5 packs of cigarettes a day is harmful to health.
[s PRO,» to smoke 5 packs of cigarettes a day | is harmful to heath
To see is to believe.

[s [s PRO,» to see] i1s [s PRO,,» to believe] |

Wh-movement
Wh-questions pose the same problems as the passives do with respect to subcategorization,

selectional restriction, and complementary distribution.

(32) What did John buy?
John bought a book.
*John bought
*What did John buy a book?

A wh-element undergoes movement to COMP:

(33) S’
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Direct questions and indirect questions: Some verbs select a [+wh] complement clause, but some

verbs don’t.

(34) John wonders what Mary will buy.
John knows what Mary will buy.
*John thinks what Mary will buy.
*John wonders that Mary will buy a book.
John knows that Mary will buy a book.
John thinks that Mary will buy a book.

Topicalizaton

Topicalization involves Wh-movement, that is, movement to COMP.

(35) That book, Mary already bouhgt.
*That book, Mary already bought a book.
Mary already bought.
(36) [s' [comp that iook | [s Mary already bought _ 1]

Relativization

Relativization also involves Wh-movement.

(37)  the book (which) John bought yesterday
*the book (which) John bought a book yesterday
*John bought yesterday

(33) NP
0 e

Det N S

| |
the book COMP S
|

which, NP  Aux VP

P

4 John \Y NP AdvP

buy [ ] yesterday
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Wh-movement without a Wh-phrase:

(39)  the book John bought yesterday
the book that John bought yesterday

(40)  the book; [s> [comp D/that; | [s John bought _ yesterday | |
A |

Extraposition
In English, when the subject is itself a clause, the subject clause can be shifted to the right end of
the sentence. The original subject position is then filled by the expletive iz. Verbs that permit

extraposition are typically those that represents mental attitudes.

(41)  That the professor is going to flunk everyone annoys John.
It annoys John that the professor is going to flunk everyone.
(42)  (People) generally believes that science progresses in a unidirectional way.
That science progresses in a unidirectional way is generally believed (by people).

It 1s generally believed (by people) that science progresses in a unidirectional way.

Heavy NP Shift
In English, when the subject NP is “too heavy” (namely, too long), part of the subject NP (typically
the modifiers) can be shifted to the right end of the sentence.

(43)  The author who wrote the famous book 4An Investigation on 9/11 will be in town.
The author will be in town who wrote the famous book 4An Investigation on 9/11.
I bought a photo of Washington’s birthplace today.
I bought a photo today of Washington’s birthplace.
An argument against John’s proposal was raised last night.

An argument was raised last night against John’s proposal.

Transformations in English: Deletion

Imperative Formation

In English, an imperative sentence is formed from a sentence with you as the subject, by deleting
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you.

(44)  You go home!
Go home!
You stand up!

Stand up!

Notice that the invisible subject of the imperative sentences in English must be you, since in the tag

question it is you rather than any other expression that appears.

(45) Stand up, don’t you? (*Stand up, doesn’t he/she/...)
Go home, don’t you? (*Go home, doesn’t he/she...)
VP Ellipsis

In English, a VP can be deleted if it has an antecedent.

(46)  John will buy a book, and Mary will buy a book too.
John will buy a book, and Mary will too
John will buy a book, so does Mary
John ate a burger, and Mary ate a burger too.
John ate a burger, and Mary did too.
John ate a burger, so did Mary.

Notice that, when there is a modal verb in the sentence, the VP simply deletes. If there is no modal
verb, the “expletive modal verb” do must be inserted in order to carry tense. The element so in the

above examples can be regarded as a pro-VP.

Gapping

Sometimes we don’t delete the whole VP, but just the verb, retaining the object.

(47)  John will buy a book, and Mary will buy two books.
John will buy a book, and Mary, two books.
John will buy a book, and Mary, two.
John ate a burger, but Mary ate two burritos

John ate a burger, but Mary, two burritos.
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More on transformations

What elements undergo transformation?

Textbooks of linguistics tell us that only constituents can undergo transformation.

(48) a. John brought that book to the classroom.
b. That book, John brought  to the classroom.

c. *That book to, John brought  the classroom.

To be precise, only maximal projections and heads can undergo transformation. (49) provide
examples for head movement in English. In (49a-b), the auxiliary will moves to the initial position
of the sentence to form an interrogative sentence; in (49¢c-d), the tense element [+past] movement to
the initial position of the sentence, supported by the default auxiliary do (realized as did). This

latter operation (a transformation also) is known as Do Support.

(49)  Head movement in English
a. John will have arrived at the station by 9:00 pm.
b. Will John  have arrived at the station by 9:00 pm?
c. John arrived at the station by 9:00 pm.
d. Did John arrive at the station by 9:00 pm?

Structure preservation

Transformation does not destroy the structure; it preserves the structure.

All leftward movements in English move an element to a position that already exists. Raising
moves an element to the subject position. Wh-movement (movement of wh-phrases, topicalization,
relativization, etc.) moves an element to COMP, which has been there already. In other words,

movement does not create new position, nor does it create new branches for the tree structure.
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(50) S

/[\
[ 1 Aux VP
Pass \Y NP
o |
be -en
scare Mary
(51)
S
/[\
[ T Aux VP
A | S TTT—
-Past \Y S
|
-S NP  Aux VP
seem
| |
John to V/\Ap
= |
be Al
|
happy
(52)
Sl
/\
COMP S

Deletion also obeys the condition of structure preservation. Notice that, whatever is deleted

must be recoverable. In Imperative Formation, the missing subject must be you, in VP Ellipsis and

Gapping, the elided elements must correspond to the VP or verbal elements in the preceding clause.

This is known as the Recoverability Condition for Deletion. As a consequence, there is no deletion

in natural language which targets an arbitrary element and elides it without chance for

recoverability (e.g. John likes Mary = *John likes ).
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In this sense, deletion is also structure-preserving. Incidentally, when a structure undergoes

deletion, we assume that the node of the constituent that is deleted is preserved.

(53) a. John bought a book, and Mary did, too.

b.
ConjP
3 Conj’
AuxP and S
[+past] Mary/\
VP AuxP
V/\ [+past]/\
| NP | VP
buy ) |
/\ e @
a book
Adjunction
What is adjunct?

Adjuncts are modifiers which are neither arguments nor main predicates. They are adjoined to the

structure — adjunction.

A phrase-structure perspective
A constituent is a maximal projection. A maximal projection starts from a head, which keeps
projecting until the point it does not project anymore. Two elements are crucial to the projection of

a head: complement and specifier.
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(54) America’s destruction of Ryukyu

NP
/\
NP N’
/\
N NP

America destruction  Ryukyu

In (54), the N destruction first combines with the NP Ryukyu, taking it as complement and
projecting to N’. Then the N’ further combines with America, taking it as specifier and projecting

to NP. We assume that complement and specifier are essential elements of a maximal projection.

(55) The X’-Convention
X’ — X Compl
b. XP — Spec X’

(56) XP

Specifier Complemen

But sometimes a phrase structure does not contain the Spec and Compl only; modifiers may come
into play, such as America’s cruel destruction of Ryukyu, and America’s unpreceded cruel
destruction of Ryukyu. These examples involve adjunction of modifiers. In the following structure,
and adjectives unpreceded and cruel are adjoined to the structure at N’; they are adjuncts in the

structure.
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(57)

NP
/\
NP N’
unpreceded N’
/\
. cruel N’
America
/\
N NP

AN

destruction  Ryukyu

(58) The X’-Convention
c. X’ — Adjunct X’

Adjunction adjoins an element to the X’ (X single-bar) level of the phrase structure. Notice that
adjunction only causes X’ iteration; it does not create new structure. In this sense, adjunction can be

said to be structure-preserving as well.

Rightward movement in English
Rightward movements in English are cases of adjunction. Elements (the sentential subject clause or
the “heavy element” in a heavy NP) are moved rightward and adjoined to V’. (In the case of

Extraposition, the expletive subject it then fills the subject position.)

(59) That the professor is going to flunk everyone annoys John. => (Extraposition)

It annoys John that the professor is going to flunk everyone.
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/\
Comp S
S’/\
...... |- VP
Tt /\v,
............ V,/\S,
/\
\‘/ NP
annoys John the professor is going to flunk everyone

(61)  An argument against John’s proposal was raised. = (Heavy NP Shift)

An argument was raised against John’s proposal.

raised [ ] against John’s proposal
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In conclusion, structure preservation is an essential property of transformations in natural languages.
In English two cases are distinguished. In the case of leftward movement, an element moves up to a

position already prepared for it. In the case of rightward movement, an element is adjoined to V’.

Cyclicity of movement
A transformational rule can apply for more than once. This is particularly true for leftward

movement.

(63)  Cyclic application of raising (including passivization)

[s»John seems [s>  to be likely [+ to be awarded _ ]]]
A | A | A |

(64)  Cyclic application of wh-movement

[s' [comp who] does John say [s: [comp that] Mary thought [s [comp that] Jane liked  17]
A | A | A |

But rightward movement in English cannot apply cyclically. An extracted element (that is, a moved
element) can only adjoin to the local (that is, the closest) V’. Adjunction to a higher V’ will result

in ungrammaticality.

(65) John said that [that Mary will come surprises everyone] in the library

John said that [it surprises everyone that Mary will come] in the library

*John said that [it surprises everyone] in the library that Mary will come

(66) Mary said that [an argument against John’s proposal was raised] in the meeting

Mary said that [an argument _ was raised against John’s proposal] in the meeting

*Mary said that [an argument __ was raised] in the meeting against John’s proposal

Why is there such an asymmetry between leftward and rightward movement? This, again, has to do
with the principle of structure preservation. A sentence always has a Comp position and a subject
position. These positions become the “route” for cyclic movement. Since these positions are
located in the left periphery of the sentence, leftward movement can proceed in the cyclic way. On
the other hand, no such “route” is available at the right periphery of a sentence; the only means to
make use is adjunction. If we ban cyclic adjunction, rightward movement has no chance to escape

its local domain.
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Transformation in Mandarin Chinese

Some characteristics of transformation in Mandarin Chinese
First, there are very few cases of deletion, and those permitted cases of deletion are severely
restricted. Second, there is no rightward movement in Mandarin Chinese. All movements are

leftward.

Topicalization

(67) R=EREEHERA
(68) fERR - IR=ERE# (]
(69) EEFR - FOLRNEHRFAR=ZREE (]

In English the topic of a sentence must have moved from within the sentence, thus a topic
expression must correspond to a gap within the sentence. Chinese, however, doesn’t need to mee
such requirement. Chinese permits “gap-less” topics. This is the major reason that Chinese is sauid
to be “topic prominent,” as opposed to English-type languages, which are said to be “subject

prominent.”

(70)  Fish, I like [e].
(71)  *Fish, I like tuna.
(72) B HER [e]

(73) B RERHER

A topic in the Chinese sentence can be licensed simply by some kind of “aboutness.” This is not

possible with English.

(74)  EBBNXN - ZEHEMEREFE

(75)  *This fire, it is fortunate that the fire fighters were here early.

To reach such “aboutness” effect, English has to make use of introducing elements.

(76)  As to / talking about fish, I like tuna.
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(77)  As to / talking about this fire, it is fortunate that the fire fighters were here early.

There is a special type of topic construction in Mandarin Chinese traditionally called the

“patient-subject sentence” (S2EEFE5EM)) . This kind of sentences give rise to ambiguity.

(78) #NzT
‘The chicken has eaten [something]’ or

‘The chicken has been eaten [by someone].’

This has to do with the property of free argument drop of Chinese (a common property to East
Asian languages—Chinese, Japanese, Korean, etc.). In such cases the argument position is filled

with the empty pronominal PRO.

(79) #E0Z [e] T
(80) Ei-[e] Iz [eli T

Relativization

Chinese permits “relativization out of a relative clause.” This is not possible for English. Relative

clause is a syntactic island; namely, nothing can be moved out of a relative clause in Engllish. The
fact that an element can be relativied (i.e. moved) out of a relative clause in Chinese indicates that

relativization in Chinese may not involve syntactic movement, but perhaps involve control of PRO.

(81) [[[e: & e] BIE;] REEER 1 FBEAL]
(82) MER [[a B o] WARIEH | IXE
(83) *the person; who [the books; which [e; reads ¢j] are difficult]

Object shift

In Mandarin Chinese, an object can undergo shifting to move to the pre-verbal position.

(84) REIZTIREZEREY
(85) REABEIEENZ [e] T
(86) R=—EHNZT [ =K

The lian...dou... construction
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(87) IRIEFHAVEEEME [e] T

The ba-construction

(88) R=ET%FMH
(89) R=1FNET [e]

The ba-construction is a very interesting construction and it has attracted many researchers
attention. The questions that have been studies include whether movement is involved, the status of
the morpheme ba (verb or preposition), the phenomenon of retained object, the predicates that can

be used in the construction, the semantic characteristics of the construction, etc.

The passive construction

(90) R=ETZFMN
(91) ZFNFRR=ET [e]

The bei-construction is also subject to hot discussion. One particularity of the passive construction
in Mandarin Chinese is that it doesn’t really need to have a gap. This is not possible for the

ba-construction.

92) RERFMEI TH—RE 8T
(93) *FMER=ITH—RE 8T

VP Ellipsis, Gapping, and Sluicing

VP Ellipsis is possible in Mandarin Chinese only when there is an overt auxiliary verb.

(94) k=Fa1 FEMEALL
(95) “R=FA1E  FOEE [

(96) Rk=8Zxall  FOWEESE
97) R=8Zadl ' FMEME (]

Gapping is generally forbidden in Mandarin Chinese, except when the object is a numeral

expression.
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(98) R=MZ2ER - FHEIZEE

99) R=MZEER - M [e] EE

(100) IR=MZMMEZER - FOZ=EZE
(101) IR=IZMMEER - M [¢] =EZFEE

Summary: In general transformations in mandarin Chinese perform very different properties

compared with those in English.
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5. Sentence structure and subject

Sentence in English

A sentence in English is defined as the domain of a tense. In a different way of speaking, a
sentence in English is a linguistic expression with a subject and a tense. Since the tense must be
realized on a verb, so a sentence in English can be also defined as a linguistic expression with a

subject and a main verb, the main verb being a tense-inflected verb.

Tense in English

Traditionally, tense has been regarded as an instance of Aux. But in fact more fine-grained

distinctions can be made.

(1) John fired Bill S
e
N Tns V/\Np
|
John [+past] fire Bill
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(2) John would fire Bill S

/’\

NP Aux VP
/N T
N Tns Mod \Y, NP
|
N
|
John [+past] will  fire Bill

Notice that Tense, in such treatment, amounts to an independent syntactic category. There is
evidence that this view is indeed correct. The following examples show that tense seems to be

“floating” around seeking to “hook” on the first verbal element of the predicate.

John walked home.

3)

o ®

John would walk home.
John had walked home.

o o

John was walking home.

John would have walked home.

John would be walking home.

John would have been walking home.

*John will had walked home.

= @ oo

—

*John will was walking home.

*John will had been walking home.

—

k. *John will have was walking home.

In an English sentence, there is one and only one tense. And since tense has to hook up with a
verbal element, the verbal element that is hooked up with tense is the main verb of the sentence. If
an English sentence contains more than one verb, all verbs not hooked up with tense must be
transformed into different participle forms (or relocated into a different clause) to be interpreted. In
this sense, tense looks like the core element of the English sentence. We may even regard an
English sentence as a projection of tense — S = TP (Tense Phrase).

Tense in English may assume different values.
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4)

Present: John walks home
Finite

Past: John walked home
Tense

Infinitival: Mary wants [John to walk home]

Non-finite

Subjunctive: Mary demands that [John walk home]

&) The value of tense in English
Past: The event time occurs prior to the speech time.
Present: The event time is co-extensional with the speech time.
Subjunctive: The event time is not temporally located (the irrealis mood).

Infinitive: The event time doesn’t have a value.

There is no future tense in English. Will is an irrealis modal; it is not a tense. Thus sentences with
will cannot be said to have future tense; they are sentences with present tense containing the irrealis
modal will.

Notice that the infinitival 7o is a tense morpheme (or more accurately, tense + modal).

(6) a. John promised Mary [that Bill would walk home].
b. John promised Mary [for Bill to walk home].
c. John told Mary [that she should walk home].
d. John told Mary [  to walk home].
(7) a. John expects Mary to have walked home by 5:00.
b. John expects Mary to be walking home at 5:00.
c. John expects Mary to have been walked home before.
d. *John expects Mary to will walk home.

So infinitival clauses are complete clauses as well; they have subject (PRO or the trace resulting

from raising) and tense (that is, 70).
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Subject in English

Now we see why tense is one of the defining element for a sentence in English — a sentence in
English is a Tense Phrase, TP, and, since the tense morpheme needs to hook up with a verb, a
sentence in English has one and only one main verb (namely, tense-inflected verb).

But what about the subject? Tense in English does not only hooks up with a verb; it also agrees

with the subject.

(8) a. He plays basketball.
b. They play bascketball.
c. He/ they played basketball.

Tense determines the inflection of the verb; but such inflection is also affected by the subject
(singular or plural, for example). This is so because tense has a need to agree with the subject. This
is what we call the Subject-Tense Agreement. This is usually understood as subject-verb
agreement, but in fact it should be an agreement with tense, not the verb. The evidence is the

inflection of the verb in subjunctive tense:

9 a. John demands that Mary arrive at 8:00.
b. *John demands that Mary arrives at 8:00.

A verb in subjunctive tense cannot inflected. If the subject agrees with the verb directly, this
shouldn’t have been the case. On the other hand, if the subject agrees with the tense, then we can
say that the inflection of the verb is determined by the tense, and the ungrammaticality of (9b) is
expected.

Since tense has a need to agree with something, a sentence in English must contain an overt

subject for the tense to agree with. This is why a sentence in English must have a subject.

Topic and subject in Mandarin Chinese

Topic and subject

Two types of sentence structure:
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(10) Topic-comment

A& BFRE

XM - EMNERENBHEE

BN EBMABRNE
(11)  Subject-predicate

EARTERA

1A ERER

EXETWMREF

EEXT

What is topic, and what is subject? The traditional conception:

Topic: What the sentence is about; something that the hearer already knows about and is further
elaborated in the following comment.

Subject: The NP that has a “doing” or “being” relationship with the verb of the sentence; the
NP that is ascribed the property represented by the predicate (typically a VP).

Chinese is said to be a “topic-prominent” language; English is said to be a “subject-prominent”
language. While Chinese has very productive Topic-Comment type of sentence structures, English

only allows Subject-Predicate type of sentence structure.

Li and Thompson’s (1981) 4 types of sentences in Chinese

1. Sentences with both subject and topic:

(12) MWEHD - HEEHET
INFNEE - RIEHEERTENA

2. Sentences in which subject and topic are identical:

(13) BEHNZIER
EEXRET !

3. Sentences with a topic but no subject:

(14) BEZLIRT (cf. BEHR=ARET)
BFERT (cf. EEIBEFEHFT)
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FOTY (cf. IR=FTHZIET)

4. Sentences with no topic:

(15) =2&EB (cf. FIRBEREH)
TrHY (cf. MTT=K/BRAN)

RTY=EFEEAN  (cf. B=EBEEART)

Redefine topic and subject: A new conception based on structural positions
To start with, notice that subjects in English do not always bear a semantic import. Subject in

English is just a structural position.

(16) a. Johnis tall

= John has the property of being tall.
b. John went to Taipei yesterday

= John is committed to the action of going to Taipei yesterday.
c. Thereis a man in the classroom

x => There has a property of being a man in the classroom.
d. It rained yesterday

x => [t is commiitted to the event of raining yesterday.
e. [t is important to study English

x => [t has the property of being important to study English.
f. To the town comes Santa Claus

x = To the town 1s committed to the event of the coming of Santa Claus

These examples indicate that the subject of an English sentence is not always a receiver of a
property or the “doer” of an action. It can be just a position occupied by semantically empty
elements, such as there and it, or occupied by a locative expression moved from inside the sentence
(e.g. to the town).

So, what is subject? The subject of a sentence, in English and in Chinese, is the element that
occupies the highest position of the S that agrees with the tense of the sentence.

What is topic? From a structural point of view, a topic is an element that appears in the COMP

position of S’.
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Analyses

Subject: the element dominated by the node S.

Topic: the element(s) dominated by the node S’.

(17) s’
/\
C?MP S
/\
RER NP VP

PESNVAN

RE
(19) S’
/\
COMP S
|
mEn 5 yp
|
¥
BRKE[ 17
|
(21) S’
COMP S
/\
NP VP
| —
BrE \'% SIFP
|
& R T

Chinese is a PRO-drop language

In English PRO can only occur in the subject position of infinitival clauses (that is, the fo clauses),

(13) S’
/\
COMP S

|
BB i i

ZERAERFE

(20) S’

/\
COMP S

rewEs N

A s’

[ 1 RERGEHA
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in Chinese it can occur in virtually any position.

(23)  John wants to go home = [s> John wants [s» PRO to go home]]
John bought a book to please to Mary = [s- John bought a book [s- PRO to please Mary]]
To drive a truck can be dangerous = [s [s» PRO to drive a truck] can be dangerous]
*For John to buy can be dangerous = [s [s- For John to buy PRO] can be dangerous]
(24) Q R=BRFNTK?
A: (a) R=EBRFNT
(b) R=BRTY = [[R=&R PRO T]
(c) ERFMETY = [PRO ERFMET]
(d) BRY = [PRO R PRO T]
(25) Q: Did John see Mary?
A: (a) Yes, John saw Mary
(b) Yes, John/he did
(c) *Yes, John saw
(d) *Yes, saw Mary

(e) *Yes, saw

Phonetically empty subject
Some verbs, in particular verbs of appearance and verbs of existence, permit phonetically empty

subject that denotes understood time/location.

PRO
(26) THT = [¢COMP[s < &dt > TWT]]
= ANENE REXR

MERTRY

(27) RT={EEEAN = [ COMP[s PRO KT =1EFEEA]]
EHER T =EFFEA
RERR T =fEFEEA

(28) B=EFEEART = [s COMP[sPRO B={EEEARTI
HEA=EREART
RERB=EPREAKT

(29) (FER / BER) BEREERT !
ik /*PRO/*HER HIRT —EXIZE
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It

EEN F/ *PRO / *RER BIE—HHETSE
EEEHAFE / *PRO / *+5R1 EE—EAER
EERME /*PRO / *MBER FEEZRZTENEY

Conclusion: All sentences in Chinese have subject. The subject in a Chinese sentence may be
phonetically overt or covert.

So, what is the real difference between English and Chinese?

English has a morphological tense, which needs to agree with something, namely the subject.
This is why an English sentence is defined as the minimal linguistic expression with a subject and a
tense (a tense-inflected main verb). This is also why English is subject-oriented.

Chinese is a PRO-drop language. The empty pronoun PRO can appear in virtually everywhere.
Thus to make the meaning of a sentence clear one often needs to resort to a topic in the context to
disambiguate the sentence. This is one major reason that Chinese is topic-oriented.

This doesn’t mean that a Chinese sentence doesn’t have to have a subject. A Chinese sentence
must have a subject; this is required by the argument structure of the verb—the verb chi ‘eat’ needs
a eater and the thing to be eaten. These cannot be dispensed with. It’s just that the empty PRO
subject sometimes blurs the subject requirement.

Also, Chinese doesn’t have morphological tense, and therefore no subject-tense agreement.

Since there is no agreement, the subject of a Chinese sentence doesn’t have to be overtly present.

Sentence structure in Mandarin Chinese

Syntactic structure in current syntactic theory

Sentence structure: New categories, C (complementizer), T (Tense), and D (determiner).

(30) CP — SpecC’ TP — Spec T’ DP — Spec D’
C — CTP T — TVP D’ — DNP
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(31)  John said that Mary would buy the book.

C TP
John T
/\
* TI VP
[+paSt] [e] )/l\
y cp
........... | /\C’
said
C/\
| . TP
that
Mary T
/\
T VP
o |
L [+past] €] V’
| /ST~
would V DP
T
buy D
/ST~
D NP
...... | |
' the N’
|
N
|
book

Some important points

A. The VP-internal Subject Hypothesis. We assume that the subject of the sentence is
base-generated (that is, inserted by Lexical Insertion at D-Structure) at Spec of VP, and then moves
up to Spec of TP. This hypothesis is based on the following thought: the subject argument of the
sentence is part of the lexical properties of the main verb of the sentence, thus it is natural to
assume that the subject argument is based-generated within the maximal projection of the main
verb. The subject raises to Spec of TP to agree with Tense (T). We assume that all cases of raising

in English (such as It seems that John is rich vs. John seems to be rich) are triggered by the need of

Subject-Tense agreement.
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B. Even though C may have anything that occupies it, CP is always projected for a clause
structure. Spec of CP is the position for the whi-phrases when whi-movement applies.

C. We assume that the kind of structures as (31) hold in Chinese as well. That is, Chinese
sentences have CP, TP, DP, and so on.

In summary, a sentence has three layers. The CP layer, where topic, mood and other speech-act
elements occur; the TP layer, where the subject and the tense (whether morphological or not)
occurs; the VP layer, where the main verb and the argument(s) (and perhaps other complements)

ocCcur.

Predicates in Mandarin Chinese

Types of VPs
There are three types of VP: intransitive, transitive, and ditransitive.
A. Intransitive

1. Adjectival

(32) R=M BEaieal
SR=1RM BEA{BIRAL
R=T EaIEAL 1
R=MT=2F EFRTEALT=K

cf. IR=ZMH e (Al

2. Copula

(33) Equational: {RE2 (W) EE2

EEIRERFEEME
Attributive:  SLEEEE Y
EWER1996EEEMN

Affirmative: ZERRE

SR=F— R & (Ralz=4E1)
Presentative BAREEMAEH

HIE = —EERR

3. Others
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(34 =ZXEELEL
EEX L EHEHER
SREEPR
R=7ER
EXREBT

cf. EEUERFL = Goal
ZEXHERFEM = Location

B. Transitive

(35) R=MZT—WH4REE

R=#tFF 7Y
EIEEWNF
EXGMEES
Zxm|\e

cf. IR=IE4R%ENZT = Ba construction
IR=4RHNiZT = Object Shift construction

cf. IR=RIBIVEHS
R=HEHS—EHEZFEAND
EETihFK
T =@/
XY =8\
EZEIEEER
EIETRRMN—ER
EIERESRE

C. Ditransitive

(36)  FIXMh—42
BSF 7 —iE451M
BNER=%F0
FAafthi] 7 —BEs
cf. IR=ETrFMARBE = Ambiguous: source & goal
SR=MZT7ZFMN—E%H = Source
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REEBIFEMNAARE = Source

More on types of VPs: dynamic vs. static, permanent vs. transient

Verbal elements can be divided into two groups: dynamic verbs and static verbs

(37) Dynamic verbs

R=IT
R=RE
R=Mz4Pa%E
R=RERENET
EFEFETATE
(38)  Static verbs (adjectives)
R=1RS
R=AFN=A2%
R=E8ZFMN
R=GfthEE
R=TEX

Notice that the distinction between dynamic verbs and static verbs does not correspond to the
distinction between intransitive verbs and transitive (or ditransitive) verbs. Intransitive verbs can be
dynamic or static; also, transitive verbs can be dynamic or static.

Verbs can also be distinguished in terms of whether they denote permanent properties or

transient properties. Permanent properties don’t change in time; transient properties change in time.

(39) Permanent properties
R=1RS
R=GfthEE
Transient properties
R=XT
R=E8ZFMN

To decide whether a verb denotes a permanent property of a transient property (that is, whether the

property it denotes changes in time), we can use the when-clause as a test.

(40)  When John smokes, he usually locks himself his room.
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When John hits Mary, he usually locks himself in the room.

When John is happy, he usually locks himself in the room.

When John likes someone, he usually locks himself in the room.

*When John likes Mary, he usually locks himself in the room.

*When John resembles his father, he usually locks himself in the room.

*When John resembles someone, he usually locks himself in the room.
(41) BEEBTHER  EERETEFE

EZXHNFR  HERRETEEFE

BEXIRLE - hEEREEFE

EZITERRE —EAR - tEEREETE

*EEITEWNER  MEERETEEFE

"EETRMEER  MEERREEFE

*EEXER—EAR  EERETEEFE

Complements in Mandarin Chinese

Types of complements in VP

Chinese has various types of complements. Complements are not necessarily arguments, though
they have close semantic relationship with the (main) verb. This is why they are different from

adjuncts (adverbials)

Descriptive: Introduced by the element de.

(42) TBEEHEFRIR
EZ2FXNIZHHENZFERIR = Verb copying construction

Resultative: Also introduced by the element de.

(43) EEXHRERE
BEIZFHIZERZE

Frequency: Introduced by the aspectual suffixed /e (/el).
(44) TBEEWRTZ=R
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EENZHHEZT =R
EERZT=R (1) &5

Duration: Also introduced by le.

(45) BEHRT=E/NIF
ZBENZAHEZ T =B/
BEIZT=E/EF (89) &5

Goal: 1t can a zai-phrase or a dao-phrase. Zai and dao may not be prepositions; they can be verbs.

Notice that dao may introduce a clausal structure which represents the “goal state” of the action.

(46) ZXmWEEIEL
EXZFHHZERFRETET
EZXERFLE
Z2xmmE (MF) RAFBRK
EE SRR RTER

VP: Lai and qu are aspectual verbs; they can take a VP as complement. Notice that some control

structures look as if they involve VP complement, but in fact they don’t.

(47) BEEESHET
EEREFHE
EZFENZHHE = Obligatory control; not VP complement
EBFFLENIZHFHE = Non-obligatory control; not VP complement

S’ (CP): Some verbs may take a full clause as complement. Whether the clausal complement

denote a factual proposition depends on the semantics of the verb.

48) RERDABFMET=4ZE = Non-factive
R=EFNET=4E = Non-factive
R=RERBFMNET=AF = Factive
R=HEFMNET=4Z = Factive

Purposive: Notice that the sentence-final directional qu is in fact a purposive marker.
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49) BEEEXBZET = Serial verb construction (a V takes a VP as complement)

EZFEZEET = Purposive construction
(50) ZBEEH/UEET

*BEEEEAILT

EXEEE

*BEEEE (cf HMLEREXE but *EE LBEK)

EEREE (7)

EEXEEKRT

*ZBEEER

EEREIEE (7)

*BEXEERAILT

EEAEEE (T7)

EESBEEESE

*BEAS/ RBEEER

Aspectual directional: Qilai also is not a real directional complement, but represents the bound of

an event.

(51) IR=BALVTHER
R=HZFMEEH THER
IR=MEE/R TR
R=0 / RTHER
ER=1B4- PNz THER
R=IEEE [ *BTH#ER
IR=IDEREIE THER
R=IEEFETHER
REIBEFITIR TR
FIR=ICERBIR TR

Conclusion: Chinese is rich in complements; English doesn’t have so many types of complements.
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6. Aspects, modals, and adverbials

Aspects in Mandarin Chinese

What is aspect?
Aspect is the temporal property of a predicate.

(D) a. John ate an apple. (An apple-eating event exists; no aspect)
b. John was eating an apple. (An apple-eating event was going on; progressive aspect)
c. John has eaten an apple. (An apple-eating event was finished; perfect aspect)

There are two levels of aspect in Mandarin Chinese: the V-level aspect and the sentence-level

aspect.

2 ZBEEZTEET (Perfect)
ZX (k) iZEZER (Progressive)

The V-level aspect

The post-verbal aspectual suffixes and the pre-verbal aspectual verbs

3) -f  Perfective; completion of an action.
-2  Durative; continuation of an action
-8  Experiential; having the experience of undertaking an action
1= Progressive; progression of an action

Sometimes it is claimed that an aspect marker is some kind of “viewpoint” superimposed on a

given verb:

4)  R=MZTHRNE
R=1ZE4NET
R=1ZB4NEE

77



R=TEIZ4 A

But the fact is not so simple. Actually, there are selectional restrictions between the aspectual
markers and the verbs. For example, -le can be suffixed to virtually any kind of verb, but the use
of —zhe is much more restricted. Zhe cannot be suffixed to verbs of change. Furthermore, the verb
to which —z#e 1s suffixed must denote actions that are initiated by human force. Also, -guo can only
be suffixed to verbs that can be repeated. Zai can only be used with verbs that are initiated by

human force.

(5 BEEZTERE
EEXBERTM
NEEEIY
fe4ly
e LB Y —I8E

(6) BERZERE
*E X mREM
*NEREIH
(kS
fia = —IEE

(7) BEXBAI
*EXB

®) BEEEZERE
X EBRRM
*NEEE|
*feTEal
i LR —IRE

The sentence-level aspect

Sentence-level aspects are represented by sentence-final aspectual particles: /e, ne, and &.

9 Le: Perfect; “new situation”, completion of the old situation and start of a new situation.
Ne:  Progressive.
: Static aspect

(100 BENIZEET
EENZEENR
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EXNZEE

A crucial difference between the V-level aspect and the sentence-level aspect is that, the V-level
aspect is embedded in the event time of the predicate, but the sentence-level aspect is independent

from the event time of the sentence.

(11) 1492 - SHmtER THHAME
2214924 - SR BRMAIET
14935 » SHmfnEIRFMAET

& is a special aspect which we call the static aspect. It is the default aspect (that is, if a sentence
doesn’t have any overt aspect marker, we say that it has & as the aspect). & is associated with

general properties, habits, scheduled events, or intentions.

(12) ZBERZBA (Habit)
ZREIZA (General property)
(BERARGERMTE?) BEEMBZEESR  (Schedule event)
(BEREZHE ? ) BEIZFRE (Intention)

Conclusion: Unlike English, which has only one layer of aspect (have...en, be...ing), Chinese has

two layers of aspect.

Modals in Mandarin Chinese

Types of modals
Modals (namely, auxiliaries) can be classified into two general kinds: the epistemic modals and the
deontic modals.

Epistemic modals: possibility, necessity

(13) IR=0JgE / BAEIXT
E0gE | B&RET
ARREFEOIEE | FERZIS T
R=g8REx
EGIRE
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Deontic modals: obligation, ability, permission, volition

(14) R=FEZ/ WA/ ZE /[ FEX
SE% / wE | E | FiRE
AREEtSRE | B | & [ 158

(15) ZEXaesnsaMENes
*EEESRE
But: SEESIRE » BERR=RITHES
*BAREEIEEESDIS

(16) BETILUEIR
SO LIRE
But: & (1) olLFRET
*AREERSEI LAY

(17) ZBEBEXR
“ERIRE
*AREEFS 15

Multiple occurrences of modals in a Chinese sentence

Unlike English, which permits only one modal in a sentence, Chinese permits multiple modals in a
sentence. Sentences with two modals are common in Chinese. Sentences with three modals are rare,
though not impossible. Sentences with four modals are really uncommon, but some people (very
few, though) think they are okay.

When multiple modals occur in a sentence, they occur in a fixed order.

(18)  The order of modals:

Ability
Epistemic > Obligation > {Permission
Volition
(19) SR=TIEEWAER *R=WZETIEE
SR=TIRETI LAZR *R=0JLATJEE
sk =TCIAEAESIZR *IR=RESYTIHE
R=WATI AR *R=0LAwER
SR=WHAESIZR *IR=RESIW AR
SR=RESTILAZR *IR=a]LARESIZR
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(20) SR=TIREWAHAESIIR
sR=FERZ AT LASR
sk=TJREWRAESITI ISR

Modals and aspect
The epistemic modals are compatible with overt aspects, but they are outside the scope of the

aspect. Namely, the aspect doesn’t cover the modal.

(21) RE (A possibility exists that the book prices are raised)

ETEE;
= ﬁb
E0[gEiRET (A possibility exists that the book prices has been raised)

Modals of obligation can occur with overt aspect, too, though they can fall within the scope of the
aspect. We can use the adverb yijing ‘already’ as a test for the scope of the perfect aspect /e, for

example.

(22) ZEEWEEIR
ZE (EF) wEEXRT
ZEXwE (EL) EXT

Modals of ability and permission fall within the scope of the aspect if the aspect is overt.

(23) EEresn [ cILUkx
ZEx (E&) s / oLlsxT
*ZXaes / dll (BE) BxT

Two special Aux in Chinese:
Two modals in Mandarin Chinese, hui ‘will” and yao ‘want’, are special, because they have more

than one meaning.

(24) EBEEHRKX (Ability)
EXsx=51 (Irrealis / Future)
REZREZIR (Generic property)

(25) EBEEXZEEE/[EIXR  (Volition)
HEET (Irrealis / Future)
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SERE (Obligation)

Properties of Aux in Chinese

According to Li and Thompson (1981)--

*  A-not-Ais OK; ZEREAREENRTR ?
EXIEARIER ?
e can be negated; ZEABERN
EEARIEHR
e must be followed by a verb;  fHBENZNA
*fhEEA
* no aspectual marker; *fthge T 120N
*  no intensifier ft{RBEIEFR (acceptable to me!)
*  cannot be nominalized *th 2 EER
e cannot occur before subject *HEMIIEIR  (but: FEEZMBIESN)
e cannot take an object *fgEAR IS

Li & Thompson (1981) also mention other auxiliaries in Mandarin Chinese, but they may not be

real modals. They can be just aspectual verbs or control verbs.

(260) B HFE B  HIBEEEES
RAHEERXE
HARISE

(27) #E FTE I HMAEETIE
RPIEEER AR
BAIRTEMRMNER

Adverbials in Mandarin Chinese

Adverbials in Chinese are always pre-verbal; they cannot be post-verbal.

(28) HFRER=ET—4E
R=MERET—HE
SR=E T —AEMEX

(29) BEBIEPINRE  BEIEEES
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*ZEIEEIEE - EFHEPIUEFHR  (Possible only under “inversion” reading)

Hierarchy of adjuncts (adverbials & PP (= coverbs))

Manner
Time . Temporal Goal
(30)  Speaker attitude > {Location} > Modality > {Subject- oriented} ” Source
Benfactive

(31) BEG ' BT HATE B EJubitt E/NZFHE RIRiM @7 —%£8 o
ZEH 2T BT B #/ZIE BJulith BIRM BT — 28 o
wEE , ZFEUR AT B/ i /) ZIRE REM BT —%8% o
«ZEH L, ZE {IERE BAE BE BANIRIR BT —%8 o
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Basic sentence structure of Mandarin Chinese

C’ < Topic
P, .. /\

:;":ASpeaker- C

o o~ < Subject

Time % T f Higher functional categories
", Location ./ Tongg MP

i Modality M’

v
VP

/\V

—— /\ 4—— Predicate
" Temporal ™, 1%

T

a-._Z_SUbject-oriented v VP

Object v Complement

Goal V XP
Source '

Benefactiv
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7. The Ba- and Bei-Constructions

The ba-construction

The ba-construction is also known as the disposal construction. It is called the ba-construction
because the morpheme ba occurs in it. It is called the disposal construction because usually its
meaning is about an agent performs some action and thereby affects upon something. Thus it is

sometimes called the affectedness construction.

Properties of the ba-construction

Object preposing (at least apparent).

(D R=¥TT7FN
R=ICFMITY
R=IEFMITTER

The ba NP must be definite or specific; it cannot be indefinite.

(2 R=FIT7TFEME/BEA/EHE/=EA
SR=1EZFM / AREA / #75 /71718
R=IE=EAFTT 18

Strong transitivity. Specifically, the ba predicate must denote a bound event (that is, an event that

has an end point). As a consequence, /e is typically present in the ba predicate.

(3) R=1IBFMITTY
*R=I0ZFM4T
FREIEFEMNERT

But: IR=ICI@BRLS T
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Retained object: Sometimes retained objects are possible in the ba construction, in particular the

inalienable objects.

4 REERBTFRHTR
R=1EPIZE LHAR
SR=04RNAElZ T —%
SR=ZFMTER T F
TERIEERFIET
But: *IR=IEFMIT Y EE

The grammatical status of ba

It is not a preposition, since it cannot be preposed

(5) R=EAET—KZ
7#alk R=ET—oZF
R=ATI T =E5ER
R7] » ®R=1D7 ={E5ER
R=ICEEIT Y

B  IR=FTRT

Historically, ba was a verb, and it still can be used as a verb.

(6) BEHERSEFAE (M NWBEHERKE)
BRICRZmILIERE (EF FENT)
RICHHERCSS - MARRCE (BEXR RKR)
BER  MER ' RCEEE (AL REHL)
RRRRZEDF - MBEBEAR (HUIEEX)
EER N
R
RIEXEBHRE

Structural tests indicate that the post-ba elements constitute a constituent. This makes ba look like a
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verbal head taking a clausal complement.

(7)  R=EBFMIT7—Z - THiG 7wl -

Conclusion: ba looks more like a verb.

Object predication in the ba construction
The ba construction is a resultative construction, since its predicate must have an end point — the

resultative state.

®) R=MZHFA REIERET R=IEERT
*R=ICHFANZ R=IERHET R=IEERET
R=EEHFANIZT ¥R =10 7

sR=1BFANZYE [ 1258 / TziEY R=IEFMHHRT

Object predication: The resultative state of the ba predicate denotes the resultative state of the

object, not the subject.

) R=FRTERE (R=RERE = ERHER)
R=FalE T ERE (R=RERE = R=H)
IR=IEEEERIRT
*R=ICEFEERR T
R=FIRFOEER (GR=iRZM; [ PRO; EEE] )
R=-ERFOEER (C(R=ZEFREZM, [ PRO; ZEK] )
R=IEFMEHREES
REICFNEREER
REEFNES—SZET (R=—HTF2TorFm—5ZET)
R=IEFMES—SZET (MR=—FTET, butFMN—FHZT)

Structural analysis:
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(10) R=ICFMITY

ceee VP
/\
NP \%
PN —
\Y% VP
Zhangsan | —
ba NP \%
VAN |
da
'hit’
(11) ZRICEMEREGEZEZEE
ceee VP
/\
NP V'
A% VP
Laozhang | ———
ba NP \%
A V/\
VP
zhe-liang che | o~
this car i \V; CP

Pro gan-gan-jing-jing
'Pro completely clean'

According to such analysis, the ba-construction doesn’t really involve object-preposing; the object

is in the pre-verbal position to start with.

The bei-construction

Properties of the bei construction

Preposing of “logical object,” demotion of “logical subject”

(12) R=3$T7FEN, Mary; hit John;
FMLHER=1317 Johny was hit by Mary,
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(But see “Retained object”)

Adversity: The bei construction usually conveys an “adversative” (negative) meaning.

(13) R=EEZFN IR =TEE
R=8 7 AFMENIBEHE *RFEMNIBEHERR=87
R=IEEZFN FUBRR=7R%
SR=H#7 A F MRS RFIRAREHEHRR=HT
[R=BRTZEN (neutral) IR=HWZFMERT (Negative)

But: REWRZASEE
EMBERRSEANAFRE

Disposal (or transivity): It seems that the bei predicate has to meet some sort of transitivity
requirement too, like the ba construction. But the transitivity requirement for the bei predicate
doesn’t seem to be as strong that for the ba predicate. One possibility is that, the bei predicate

doesn’t have to denote a bound event.

(14) R=FIR=FM PR =5 AR
FOWR=IET
R=IRZFN *ZFMFR=IR
*FOFR=IRT
R TEF B FHRR=FTH T
R=EIEIETIRK RIKBER=IBIET

Retained object: The bei construction appears to permit a wider range of retained objects than the

ba-construction.

(15) BEWITER 7 IR cf. R={BEIITER 7 IR
— RS HR T E R EERBERFHTRER
EEWRTE R=IBETRTE
EERIBANRET PRABEERET

IR=ETLERNE - (TEREARE BERICR=MEIE  R=(TEHLERE
BABHPEFITH—XnAZ2EL] PEKICHABRITH—ZRn 224
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REHMFNE TEE *ZFMPR=ILTESE
R=WZFNITTER *ZFMER=FTTEH

Cf. ERILT R

Bei-NP omission:

(16) IBAHKZEZ=IMEIT (Long passive)
IKEZFEMIBHN T
BAEMRT (Short passive)
IKIRIEIE T
ZXHET (Lexicalization; idiom)
EEIWET

The grammatical status of bei
Is bei a preposition like by in English? It doesn’t seem so. Typically, the complement NP of a

preposition in Chinese cannot be omitted.

(17)  R=#ZFMRES
R=¥8050
Mary hot John
*John was hit by

Also, like ba, bei was a verb, though it is hard to find it used as a verbal element in modern

Mandarin.

(18) FWER (5FEE)
BALRHE  HRTREZR (BERER)
RIFBRAI » WM OAE (8IFF)
W LR (SE5C RIEEMEIIGIE)
SHWHZ (L5 RIVEZRINE)
#WTHBEmt (S5 BEESIE)

Structural tests also show that bei seems to be a head taking a clausal complement.

90



(19) R=WFMIT7—=Z - THEH 7T —H

Furthermore, the fact that bei can take a complement which does not host a gap indicates that bei

can be a verb taking a clausal complement (e.g. PERKFH[BARBKITH—Z=0Z£37T)).

Conclusion: Bei is a verb.

(20)
g
/\
Comp S

/\

Subject VP
/\
N .
BAE | T~
bei Comp S

PEHITH—XREREIT

(21)
g
/\
Comp S

/\
Subject \o

/\
N, S

bei Comp S
|
Op;
T PEREE [

Notice that if PEE[J is replaced by a PRO, then we get a short passive structure. Also notice that
Op, a phonetically null operator, is like an invisible wh-phrase co-indexed with an antecedent for

fixation of reference.
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